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SUMMARY REPORT 

Prepared For:  
Marietta Sample

The Spelling, Vocabulary, Grammar and Math Combination Test consists of 40 questions 
Marietta answered 40 of the 40 questions. 

Overall Score: 
67.5% 

Weighted: 61.3%

The Overall Score is based on all 40 questions on the test. Marietta 
answered 27 of the 40 questions correctly resulting in an Overall Score of 
67.5% 

Questions are weighted based on the academic grade to which each is 
associated. The higher the grade, the higher the weight. The total weighted 
value of all 40 questions is a possible 391 points. Marietta scored 240 of 
the possible 391 points for a Weighted Score of 61.3% 

SCORES BY CATEGORIES:

Spelling: 
80% 

Weighted: 80.2%

The test consists of 10 questions associated with various grades of 4-8. Marietta 
answered 8 out of 10 questions correctly resulting in an Overall Score of 80 % 

The total weighted value of these 10 questions is 96 points. Of these, Marietta 
scored 77 points resulting in a Weighted score for this category of 80.2%. 

Vocabulary: 
50% 

Weighted: 44.0%

The test consists of 10 questions associated with various grades of 9-12. 
Marietta answered 5 out of 10questions correctly resulting in an Overall Score of 
50 % 

The total weighted value of these 10 questions is 109 points. Of these, Marietta 
scored 48 points resulting in a Weighted score for this category of 44.0%. 

Grammar: 
60% 

Weighted: 49.4%

The test consists of 10 questions associated with various grades of 13-16. 
Marietta answered 6 out of 10questions correctly resulting in an Overall Score of 
60 % 

The total weighted value of these 10 questions is 95 points. Of these, Marietta 
scored 47 points resulting in a Weighted score for this category of 49.4%. 

Math: 
80% 

Weighted: 74.7%

The test consists of 10 questions associated with various grades of 13-16. 
Marietta answered 8 out of 10questions correctly resulting in an Overall Score of 
80 % 

The total weighted value of these 10 questions is 91 points. Of these, Marietta 
scored 68 points resulting in a Weighted score for this category of 74.7%. 

NOTE: This report is not designed to recommend, or not recommend, any individual for employment or consideration for a particular job. It is 
provided solely as a tool to assist those interviewing this candidate to develop more pertinent and in-depth questions while conducting the 
interview and evaluation process. Your decision should not be based solely on the results of this or any other similar report.
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HIRE SUCCESS EMPLOYMENT TESTING SYSTEM 

Spelling, Vocabulary, Grammar and Math Combination Test 
DETAIL REPORT 

Prepared For:  
Marietta Sample 

The Spelling, Vocabulary, Grammar and Math Combination Test consists of 40 questions. Marietta answered 40 
of the 40 questions. 

27 of the 40 questions were answered correctly resulting in an Overall Score of 67.5%. The total weighted value 
of all 40 questions is a possible 391 points. Marietta scored 240 of the possible 391 points for a Weighted Score 
of 61.3%. Please refer to the Summary Report for scores by question category. 

A list of the questions Marietta answered incorrectly are shown below. The test choices are shown on the right in 
blue type for reference. 

8 Select the Best Definition or 
Application for the word: 

Consume 

1. To take in 
2. To use up 
3. To do away with 
4. To digest 
5. A type of soup

9 Select the sentence with the 
CORRECT word usage of 
"compliment/complement" 

1. This new addition will complement the community. 
2. The new statue will compliment the park. 
3. The article was complementary of her beauty. 
4. You can take advantage of this complimentary offer if you act 
now. 
5. I would like to complement you on you success.

13 Choose the Correct 
Spelling. 
Click the Button to Hear the 

word Spoken. 

1. transant 
2. transient 
3. transeint 
4. trainsient 
5. tranceint

14 The grocery store is Two 
Thirds of a mile from John’s 
office. His house is One and 
Two Thirds miles from the 
office in the opposite 
direction. How many miles is 
his house from the grocery 
store? 

1. 1 2/3 Miles 
2. 2 Miles 
3. 2 1/2 Miles 
4. 2 2/3 Miles 
5. 2 1/3 Miles

Marietta chose answer: 1 
The CORRECT answer is: N 

Marietta chose answer: 2 
The CORRECT answer is: N 

Marietta chose answer: 1 
The CORRECT answer is: N 

Marietta chose answer: 1 
The CORRECT answer is: N
 



  

20 Select the Best Definition or 
Application for the word: 

Fortitude 

1. Zeal 
2. Strong 
3. Endurance 
4. Integrity 
5. Stressed

23 Select the sentence with the 
INCORRECT word usage of 
"assure/ensure/insure": 

1. Assure me that you locked my car. 
2. Ensure you have answered all of the questions. 
3. Please insure me that you won’t break that glass. 
4. I assure you I took every precaution 
5. I ensure you I took every precaution.

25 Select the sentence with the 
CORRECT punctuation: 

1. Both brother-in-laws trucks need repair. 
2. Both brothers-in-law’s trucks need repair 
3. Both brother-in-law’s trucks need repair. 
4. Both brother’s-in-laws trucks need repair. 
5. All of the above are correct.

26 Select the Best Definition or 
Application for the word: 

Tangible 

1. Something which can be touched 
2. Something which is capable of being seen 
3. Something which is possible 
4. Something real 
5. Something unreal

28 A man on a diet is losing 
four-tenths of a kilogram each 
day. How many days will it 
take him to lose 3.2 
kilograms? 

1. 5 days 
2. 6 days 
3. 7 days 
4. 8 days 
5. 9 days

33 Select the Best Definition or 
Application for the word: 

Imminent 

1. Pressing 
2. Definite 
3. Might happen 
4. Impending 
5. High position

35 Select the grammatically 1. What was the affect of his decision? 

Marietta chose answer: 2 
The CORRECT answer is: N
 

Marietta chose answer: 3 
The CORRECT answer is: N
 

Marietta chose answer: 1 
The CORRECT answer is: N 

Marietta chose answer: 3 
The CORRECT answer is: N 

Marietta chose answer: 1 
The CORRECT answer is: N
 

Marietta chose answer: 1 
The CORRECT answer is: N 



correct sentence 2. His decision effected everyone in the office. 
3. He had to effect a change in personnel. 
4. They were able to affect an increase in productivity. 
5. All of the above are correct.

36 Select the Best Definition or 
Application for the word: 

Affliction 

1. Caring 
2. A handicap 
3. Misfortune 
4. A burden 
5. A majority

38 Choose the Correct 
Spelling. 
Click the Button to Hear the 

word Spoken. 

1. obideince 
2. obediance 
3. obedience 
4. obidience 
5. obedeance

NOTE: This report is not designed to recommend, or not recommend, any individual for employment or consideration for a particular job. It is 
provided solely as a tool to assist those interviewing this candidate to develop more pertinent and in-depth questions while conducting the 
interview and evaluation process. Your decision should not be based solely on the results of this or any other similar report.
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Marietta chose answer: 4 
The CORRECT answer is: N
 

Marietta chose answer: 4 
The CORRECT answer is: N 

Marietta chose answer: 1 
The CORRECT answer is: N
 


